


2. a7t 25, s S Rovtg

® a? @ -a®

o (1Y o



3. FFa bolHstda>0, b<0 L, P4 A A7

@ a-b>0 @ a-b<0 ® a+b>0

@ a+b<0 ® a+b=0



a, bl 5t axb <0, a>b Q4 W, I} 5 7}

@ b B a+b @ a-»b

7

P
=7

B b-a



F /85 a,b7taxb>0, bxc< 0o, o}

5.

ol

@ a-b @—% @ a-c © axc

@ b-a



@ b-a

?

O == &5
DTOJ—

b7Vaxb<0,bxc<0,axc>0% o, ot
(2, ¢ > boltt)

@ a+c @—é @—é ® a-c
a c

=



(=7) X 34 + (=7) X 67

@) —=490 3) =100 @ 9238 B 469

@D =707



3663

37x100-37x1 = 3700-37 =

37x99 = 37x (100 — 1)

ol

N

o

—

=

Ton
el
or

TR

Ho

I~
ol
oy
e
o

A

Mo



B

i

5t

)—(—10)<—J(1)

ez

Z]

(2)
(3)

P —

)—
(-10)

(_
20) x <§>
+
(=20) x (~ 1
5

1
35
(-10
(+4))+(+4)—(
+ -1
(—10)+(+1Z) _
)

(—20) X (
(+4)+0

i~
i
o
E
i~
L,

Tol
w
i~
it

jant
T

I~
L

__OB
T
8
s

jang
iz
I~

s
o
r



10. o= & ArPEyr P A2 Ae e w?

O (-4)x{(-3)+ (+2)} @ (-20) + (+4) x (-2)
® (-16) +4-3 @ -7+1-(-3)
® 5x7—-(=3)x(-2)



11. 524 919 4 HA, B, C, D Ato]9] A7l dAT o, B+ D 9
2L
A B C D
S ———— >
3 1
—17 12
1 1 1 1 1
5 @45 O O ® 3



12, ohg 484 9ol4 5 A, B

4 ¢ B
Atelo] AlE 2 12 U -3 * "
"ol 4 ¢ 2 v ¢ 7} e 58 Fohw?
® -1 ® é - L @ g 5 13£



13. A A2 B(-4) &4 C2) Aelo] AZE 5: 1 & the Aol 4
A 7F s 27

@D -2 2 -1 3 0 @ 1 B 2



Loo)

1
3

,31|:|(

St
=

1o aob=a+b+5 2 A9

S

e a, b ol H

=
an

14.

Q7 ® 8 @ 11 ® 13

@D 5



15.

M2 T T 884 g, b o] Histe]
aAb = (a, b F 094 717k &),
avb = (a, b 5 0914 ¥ )

2 30 (2 () o ()} e

13 11

~3| >

® -2 ®+- O+



AEAA A upF B "ol 9l F 5
Wr ]Uﬂ Holz] &= Al Wo| gl =0
o | A9 ghe? -7

@D 20 ® 68 ® 120 @ 144 ® 252



17. ofdf Hi Selube) 2} 499 A ol o] A7l 23t HA7] 2L
crebg Aotk Z1&7pol7t 71 2 292

7] & A AL | BA | g [T AA
Hu712(C)| -1 | 8.3 2 |—-4.4]|-2.2
HA71(c)|-8.8|-4.6| -5 |-15.9|-14.6

© A @ w4 ® o7
@ g ® A



+(|:]+4+15)><3=g

1
5






544 a b “
PAS BETE ALE }0% UrEM Ao & A7

@ a-b<b<a<b-a
® b-a<b<a<a-b

® a<b<a-b<b-a

@ a-b<a<b<b-a

@ b-a<a<b<a-b



Uj__

\/



22. =S85 g bl Ut aeb=axb+a,aob=axb T,
= oY




23. = A% a b ol Bsto] Thee] F0j7l A& A8 {(-2)07) +
{(12 % 3) * 5} & -oFH?

aob=axb-2a, axb=2a—b>




24. T A9 BIA A 9 AYigho] B o] AUigre] 280l A = B H}
9‘3%31*41@3}.AXB<0°‘341,AX B & 75?7

D -8 ® -15 ® -18 @ —24 B -32



25.

®a>0,b=0 @ a>0,b>0

@ a<0,b>0 ® a<0,b<0

Shod % <0,(-1)'xp >0, atp

® a>0,b<0



26.

@ 829 _ 828 < 828
@ 829 _ 828 > 828

@ 829 _ 828 — 828

¢)=axb+axcE ol-gslo] F 5829 — 828, 828

@ 829 _ 828 < 828

@ 829 _ 828 > 828



